PUSF EF

111 BFE 1 25H

HNE #HE: F=F8

1 F B

BES§ :  WR:

~
AU

EH Q58 FHAA)
L.

( VEEEA ST R T)TE » I
BRI R 2

(A) EFEHATRE AR 5 (5% 7 77

(B) SFETMIREEARNT 5 (50 T 5t

(C) HREISEE ST /0 7 7

(D) IR T H= % T ¢

()Y PNIIR—{E=Xr b A ZE N 2x ?
(A)2(x+1)—1  (B) —2xx(—1)

(C) —2x+4x (D) x+%

() CEHRIE T - TR S RS
br o MR Ryt E T BT R YRR A o AL
PHr 24 A B W R 5 = > B —d
HZEMEA 24 AMBTTEH © [0f845 16 AHETTHE - &
B THE I HY4R I Ky 3600 JT - All-FE—HiER
FFHL DAY

HEDT THEEH
SEREREIIHEITHE | 150 7T

R A T - AR T| 100 T

(A)28 (B)32 (C)36 (D)40
-x+4 —3x+1

(G IV =N R el s 2 HYHAE -
S R TR 6 > 152 183(—3x+ )
SR L LRETES-2X+8+9x—3
ER— L5 6x+6
RES/ NBAV LR AR - (ET— D BRBHAG R FEER ©
(A) FEE— (B) DHE
(C) #BE= (D) iBf2fms
() THI—{EEEE AT R T2 =

3(5—2x)= —(Xx—2)—7 HYM#E ?

(A) Xx=2—7—15+(-6+1) (B) x=(2—7—15)x

(C) x=(2—7—15)x(-6+1) (D) & L&

( ) BE41am - a"=am" s 11%=11% - 11%> H x
=?

A3 B)2 O)1 (D)0

(EH—IHER 2y 3=5y+5  BHEHTER
L3 S THUETERE ?
Ny HEEEASE  (B)y TR

C)yrErE  (D)yWERES3

() BRI R Z MR T B/ N 24
N R E R I RN 16 AN B L
5 /N\EG  GEMH Z MR FEEESS /DN B ?

(A)40  (B)48 (C)56 (D)64

(—6+1)

111-1-J7-T3- &2

9.

10.

11.

12

13.

14.

15.

16.

17.

18.

19.

( )75R—g7#E b+t - AEERNEEEES /D
JC?

(A) (7+b)x 100 (B) (7+b)x 10

(C) 7x 100 + b x 10 (D) 7% 10 + b x 100
() —FEFITEREN S KE > FFRELES
S =D 20 Ny« WREZHIE &R X 257 N EE4R
TFIEEZ/DAGT?

(A)5x—20 (B)5x—100 (C) tx—4 (D) zx—20
()3 {EZEEEEF  WRERIVEE X - HiE 3 {E
LA EREIA Ry 2

(A)3x (B)3x+3 (C)3x+6 (D)3x—6

() EFENEEEET > A SRR x 70 FT

—iRiE 60 77 - FEIEIE 6 REEFEN I EIES
e

(A) 2x+12 (B) 2x+10 (C)5x+10 (D)5x+60
() MBS 5x—[3x—4(2x—1)]—4= 7

(A) —8 (B)10x (C)10x—8  (D)16x—8

() B—REXA7THMTEEERAKT - EHEE
HZKEHIE > Ryl % » $el AEFHIEN T EEEE HIK
HHVE 320 10 oy > RIFEKHRBEN & A%/ DS

43 2 (PAx TRl BE) 2

(A) 2x+10 (B) sx+10(C) 2x—10 (D) Tx—10

() THIH—{E 52 AL 0.3x+0.2=0.4x—0.7
HIfgAR = 2
(A) 3x+2=4x—0.7 (B) 3x+2=4x—7
(C) 3x+20=4x—70 (D) 3x+20=4x—7
() /NEABRER x 3 > SORAVFELCE/NARY 5 f5/0
4 5% > 8 R SCHRIVAESC R/ NHEY 3 % » AlKREE AT
HH—Te—RITRE=R 2
(A)3(x+8)=(5x—4) (B)3x=(5x—4)+8
(C) 3(x+8)=5x+8 (D) 3(x+8)=(5x—4)+8

X-6 342X

() & A —MELRAKE - AxEES
e

A3 B2 ()1 (D)0

() BHxHy—Ic—RITRER 3(x+2)=5x—2 Bl
3X+8=nx—8 HfEEAH[E » Al n=7?

A3 (B)S ()7 (D)9

() YRR —IT—R IR ?
(F)x+5=—9 (Z2)3%—2 (H) T+5=x

(T) $=7x+6 () 2x+10 () 2x=0

A BHAH"-T B FH-Z-HA~T

C H-k-c OF -K"-T -C

FIHA/Z2H



ApBgs =29 Lg? ®YRI-1-J7-TS #&E KT %

14 bt B W

20.( ) BHIH ~ 285 g > HpHERE LR 2
5% 48 5t > HHEEZ% 84 7T > KA ILEZ /DT ?
(A)36 (B)84 (C)120 (D) 156

21.( ) B~ Z - A= AEBiEt 168 &t > EAIH
L2 1& 18 Eot » LEERZEE 24 Bt 0 KA
&%/ DETT?

(A)34 (B)58 (C)76 (D) 102

22. () FEEIFHAEEE > WRE 5 (ERFEME
BRI 20 T 0 WERE 7 {ER R > AR5 30 7T -
EHE 2 EEEEHE% /DT ?

(A)20 (B)25 (C)125 (D)145

23.( ) B RIER FINREIE B — R S - R
JEEEAE - Pridlg 7 e SR HD b
AREE - TR E SR E [E—42 48 T -

B pH)E  FT/\IT1&F 36 7T » et EEN—F -
BIWIE— 22 P [ F P i (R PR L 2
(A)AREIE (B)Brg/E (C) EfE—ft% (D) fUAEH

24. () FZmrEEstll 100 43 By o SEE S BighE
3 rHVEHE-ERIEE 5 /r I E A 0 NI EELLE
TEREZ 12 B > R REE S I 2%/ D 2
(A)28 (B)30 (C)32  (D)40

95.( ) Z=3x+4=48 H] §+§=?

(A)4 (B)6 (C)8 (D)10

1~ 5CABAB
6 ~10 ACBCB
11 ~ 15 DBCDB
16 ~ 20 DACDD
21 ~ 25 BDCAC

111-1-J7-T3- 8458 2 /4 2 B



